
PHYS 4410

Spring 2023

Quantum Mechanics 2

Lecture 30

Fermi’s golden rule

April 10



1



2 Today: VH )=.fi?
Yne.;naepejaen2foslwtI=Vfeiwtte-
iwtTcfktl=-izfdslflvlikeiwste.ws/
etiwfisffdxeax=eaa1)=-izamiif"÷E¥
¥.ie#iIIjResohance:-Wfi70,w >Oa:*.-
i÷ait±÷÷÷÷÷÷÷¥÷÷÷÷
Pi→fCH=lcµH"=¥¥f¥. 4sinytzwfi.ci)



3

sincesintrt)E l÷÷÷i÷÷
÷÷÷÷"

" " '" '"" ±
"

(←sin
x= I t F o r→o)?

÷÷÷÷÷
÷÷T sin2x = 0

i f × = O,t ,2 7 , . . .
rate

o f transition/unittime

R i→ f ¥ ft-independent
121

-



4 Review: Dirac8 : µi§E.io.÷÷÷÷÷i÷÷÷.......
.: R→ o .

Ask: fdrhtmRi→f l ' n fe r
him"¥¥¥to

E -r t : ~ fdzh(E)sin¥t±
no,,§zsihz¥

Formulas a r e consistent IT: 7 ¥
goldenRi-f-218lwfi.at/

CflVliFIueremi."



5
117 1271 3 7

Example:

Hint
:::}

f
.

'CD!!!!"""
suppose initial state i s 11)= (§). 441mi>s o .

What w o induce
transitions (Eto)? To what states?

No allowed transitions!

Any transitions? I f l i l= 127 o r 132...
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